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QUESTION 1

A multi-server backup is failing. After checking the job log, the root cause is unclear. What is the next action an
administrator should take to identify the issue? 

A. perform a test run of the job 

B. run SymHelp and review the failed job report 

C. divide the job and back up the servers individually 

D. leave the job intact and enable BEUtility 

Correct Answer: C 

 

QUESTION 2

An administrator is configuring the Amazon S3 cloud-based storage device. 

Which two options should the administrator consider to ensure a successful configuration? (Select two.) 

A. The bucket name should start with lowercase letters. 

B. The bucket should be pre-configured before adding a Cloud storage device. 

C. The bucket which is in use by different Backup Exec servers can be shared. 

D. The bucket can be created in any region the Cloud provider designates. 

E. The user must obtain an Amazon access key ID and a secret access key. 

Correct Answer: AC 

 

QUESTION 3

What are two results of moving a server to the Retired Servers group? (Select two.) 

A. the server is removed from the All Servers group 

B. scheduled backups for the server will be discontinued 

C. the server is ineligible for restore operations 

D. the server is ineligible for new backup operations 

E. information about the server is removed from Backup Exec 

Correct Answer: AD 
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QUESTION 4

Which two conditions cause Data Discovery to fail to detect remote servers in the same domain as the Backup Exec
server? (Select two.) 

A. The administrator failed to add the default logon account to the local administrators group on the remote servers 

B. The servers have Windows Management Instrumentation (WMI) disabled 

C. The firewall on the remote servers is configured to block WMI traffic 

D. The firewall on the remote servers is configured to block port 10000 

E. The remote servers have an old version of the Symantec Backup Exec Remote Agent installed 

Correct Answer: BC 

 

QUESTION 5

Which two types of information are stored in the Backup Exec Database? (Select two.) 

A. installation logs 

B. device and media information 

C. catalogs 

D. encryption keys 

E. debug logs 

Correct Answer: BD 
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